AHC Review Officer RO Hindi

Topic:- ROHINDI_GA_06JAN_S1

1) Unscramble the letters and find the odd one out :

(1) CKYHOE (2) NRGEE 3) LLWYEO (4) LTVIOE
vieal % &l 1 M-S faarorn €1 = 9ISl R ve=fe &iR = e o =Ea wifsu
(1) CKYHOE (2) NRGEE (3) LLWYEO (4) LTVIOE

[Question ID = 1][Question Description = 101_R09_06Jan_Set1_Shift1_Q1]
1.1

[Option ID = 1]
2.2

[Option ID = 2]
3.3

[Option ID = 3]
4. 4

[Option ID = 4]

2) Two words separated by : and bearing a certain relationship with each other have been
given on one side of : : From among the options, select the one that bears a similar relationship
with the words given on the other side of : :

Ploughing : Aeration : : Manuring : ;

(1) Manufacturing (2) Earthing

(3) Replenishment (4) Agriculture

3 veg S ;o g gk foRd T ¥ SR S R U 9 §, S0 % U )%, fashed | W@
IR gfu ol ad geud S fF . F @i emFadid e 2

BA ST : 9F] GER ; : IR Sl : .

(1) Scured (2) sff (Een)

(3) g (4) Hfw

[Question ID = 2][Question Description = 102_R09_06Jan_Set1_Shift1_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3)
If 2,4 and 6 are mapped to 10, 26, and 50 respectively, then what number is 16 mapped to ?

2=10, 4=26, 6=50, 16= ?

(1) 132 (2) 290 (3) 144 (4) 268

afe 2, 4 31T 6 TEAW HEW: 10, 26 3R 50 F Ty e s &, O g gEm ¥ @y 16 faamn
S ?

2=10, 4=26, 6=5{; 16= ?

(1) 132 2) 290 (3) 144 (4) 268

[Question ID = 3][Question Description = 103_R09_06Jan_Set1_Shift1_Q3]

1. 1 [Option ID = 9]
2. 2 [Option ID = 10]



3. 3 [Option ID = 11]
4. 4 [Option ID = 12]

4)
How many sets of two letters in the word GENERAL have as many letters between them as
they have in the English alphabet ?
(1) 0 2) 1 3) 2 4) 3
GENERAL vsg # 1 31/ & U3 forew ue § fomes <= 3o & orer € foram & =79 <= ofirsit aofamen
gE?
(1) ©° 2) 1 3) 2 4 3
[Question ID = 4][Question Description = 104_R09_06Jan_Set1_Shift1_Q4]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]

3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

%) What will come in place of the question mark (?) in the following number series ?
121, 164, 250, 379, 551, 2

(1) 746 2) 766 (3) 872 (4) 892
frefafaa s § g Tg=e (2) % T 9 HHE O FE S ?
121, 164, 250, 379, 551, 2

(1) 746 ) 766 (3) 872 4) 892

[Question ID = 5][Question Description = 105_R09_06Jan_Set1_Shift1_Q5]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6 How many multiples of 3 are there between the integers 18 and 108, both inclusive ?

(1 29 2) 30 (3) 31 (4) 32
quisi 18 i 108 3 =), 3 < 1 wnfirer e g, 3 % foher oS 212
1) 29 (2) 30 3) 31 4) 32

[Question ID = 6][Question Description = 106_R09_06Jan_Set1_Shift1_Q6]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7} A certain sum of money at Simple Interest amounts to ¥ 704 in 2 years and ¥ 800 in 5 years.
Find the principal.

1) T 600 @) T 640 (3) T 660 4) T 680
TR ST O Ueh & 2 o § T 704 3R 5 a8 § 800 & Sl g1 IS U a8 2
(1) 600 2) T 640 (3) T 660 4) T 680

[Question ID = 7][Question Description = 107_R09_06Jan_Set1_Shift1_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]



8 In an examiniation, 65% of the total examinees passsed. If the number of failures is 420, then
what is the total number of examinees ?
(1) 1400 (2) 800 (3) 1200 (4) 1000
Tk ThE H T qhaidE ® 65% It g1 Afg 420 THanef ST B € q9 o Wt w
e fadr €2
(1) 1400 (2) 800 (3) 1200 (4) 1000

[Question ID = 8][Question Description = 108_R09_06Jan_Set1_Shift1_Q8]

1. 1 [Option ID = 29]

2. 2 [Option ID = 30]

3. 3 [Option ID = 31]

4. 4 [Option ID = 32]

) If a+b+c+d+e=10 (all natural numbers), then what is the maximum value of
axbxcxdxe?

(1) 36 2) 30 (3) 32 (4) 48
g€ a+b+c+d+e=10 (T YcHF F&AE T) 99 axbxcxd x e 1 Hdd {1 947 21717
1) 36 2) 30 (3) 32 (4) 48

[Question ID = 9][Question Description = 109_R09_06Jan_Set1_Shift1_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10 What is the next term in the following sequence ?
7, 11,13, 17,19, 23,25, 29, 7

(1) 37 (2) 35 (3) 31 4) 33
freAfafad swm o 3Tell S 7 &2

7,11, 13,17, 19, 23, 25,29, _ 2

(1) 37 2) 35 (3) 31 4) 33

[Question ID = 10][Question Description = 110_R09_06Jan_Set1_Shift1_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)
Amoebae are known to double in number every 3 minutes. Two identical vessels A and B,

respectively contain one and two amoebae to start with. The vessel B gets filled with amoebae
in 3 hours. In how much time will the vessel A get filled with amoebae ?

(I) 3 hours (2) 2 hours 57 minutes

(3) 3 hours 3 minutes (4) 6 hours

U 91 & TR sreiten Sita &t e & 3 fie ® gt &1 St €1 < Uk 9uE Sl A TR B H yew H
Y Ueh A1 31 o7ten 8 | Afe Afeen B 3 W H ofefien ¥ o S ¥ A A Y evfien § oA H fopa
G AW 2

(1) 3% (2) 2 = 57 fie

(3) 37 3 fHe (4) 6%

[Question ID = 11][Question Description = 111_R09_06Jan_Set1_Shift1_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]



4. 4 [Option ID = 44]

12)
A cucumber contains 99% water. Ramesh buys 100 kg of cucumbers. After 30 days of
storing, the cucumbers lose some water. These now contain 98% water. What is the total
weight of cucumbers now ?

(1) 99 kg (2) 50kg 3) 75kg (4) 2kg
G H 99% 5o B B | T 100 fereimmm @R @died €1 30 fed W& & 9. 39 € § 39 5 %1
B S T | 3T ITH 98% STl 1@ ST 8| 39 HHY Wi %1 Fol WK feha 8 2

(1) 99 T (2) 50 feeram (3) 75 fercAramH (4) 2 freiom

[Question ID = 12][Question Description = 112_R09_06Jan_Set1_Shift1_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)

In a class of 50 students, Mithilesh is eighth from the top. Himadri is 20t from the bottom.
How many students are there between Mithilesh and Himadri ?

(1) 20 (2) 21 (3) 22 (4) 23

50 ferenfef=ii =t wer e H faforer o1 SR | stieal wM 21 feaEl A= 9 20 of wm w e e
3R femel o ot fora fommeft €2

(1) 20 2y 21 (3) 22 (4) 23

[Question ID = 13][Question Description = 113_R09_06Jan_Set1_Shift1_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14
z-{ chemical solution contains 30% water and 70% alkali. What quantity of water should be
added to 6 litres of solution so that the water content becomes 40% ?

(1) 500 ml (2) 700 ml (3) 900 ml (4) 1 litre

e THEfE faeEd 1 30% 59 SR 70% "R €1 6 o faea 1 R Sia eiR faern s fe
o= ¥ <a 1 | 40% & S ?

(1) 500 ml (2) 700 ml (3) 900 ml (4) 1 litre

[Question ID = 14][Question Description = 114_R09_06Jan_Set1_Shift1_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15)
A sum of ¥ 12,500 amounts to T 15,500 in 4 years at simple interest. What is the rate of
interest ?

1) 4% 2) 6% (3) 8% @) 2%
T 12,500 THROT =S H 4 99 H 15,500 B S & | =415 Shi & F 8 ?
1) 4% 2) 6% (3) 8% @) 2%

[Question ID = 15][Question Description = 115_R09_06Jan_Set1_Shift1_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]



4. 4 [Option ID = 60]

16)
The total number of students in a school is 4800, out of which 60% are girls . What is the

total number of boys in this school ?
(1) 1920 (2) 1980 (3) 1910 (4) 1930
uw foamera  faenfofi =it ot T 4800 € frad T 60% wrefwai €1 39 faumem § ae#i #i Fa
e forat &2
(1) 1920 (2) 1980 (3) 1910 (4) 1930
[Question ID = 16][Question Description = 116_R09_06Jan_Set1_Shift1_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

7 Choose the largest number :

(1) 2500 ( 2) 3400 ( 3) 4300 (4) 5200
w7} e 9 -
(1) 2500 (2) 3400 ( 3) 4300 (4) 5200

[Question ID = 17][Question Description = 117_R09_06Jan_Set1_Shift1_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) If Q=10 and CLAP =76 then find the value of TIGER .

1) 76 @ 75 (3) 74 @) 73
7fe Q=10 921 CLAP=76 ¥ o« TIGER &1 HF ¢ :
1) 76 2) 75 (3) 74 @ 73

[Question ID = 18][Question Description = 118_R09_06Jan_Set1_Shift1_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

9 Which is largest amongst 5/8, 2/3, 7/9,3/5?

(1) 5/8 2) 2/3 (3) 3/5 4) 7/9
5/8,2/3,7/9,3/5 H Ted oISt &N FA G T2
(1) 5/8 2) 2/3 (3) 3/5 4) 7/9
[Question ID = 19][Question Description = 119_R09_06Jan_Set1_Shift1_Q19]
1. 1 [Option ID = 73]

2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20)



Kabir paid T 9,600 as interest on a loan he took for 5 years at 16% rate of simple interest.
What was the amount of loan he took ?
(1) 16,000 (2) 12,400 (3) 12,000 (4) 15,600
A 7 Teh 0 W5 T8 & AU 16% T TIER =919 R R, T 9,600 =11 fean | 3@eh g fevan =
01 fehar a1 ?
(1) 16,000 (2) 12,400 (3) 12,000 (4) 15,600
[Question ID = 20][Question Description = 120_R09_06Jan_Set1_Shift1_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) How many triangles are there in the following figure ?

1) 15 2) 18 3) 21 4) 24
foret st i Terery g 72
1) 15 2) 18 3) 21 4) 24

[Question ID = 21][Question Description = 121_R09_06Jan_Set1_Shift1_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22)
If 100 cats catch 100 mice in 100 minutes, then how long will it take for 7 cats to catch 7

mice ?
100 . : ; :
(1) — minutes (2) 100 minutes (3) 100 minutes  (4) 7 minutes

7fg 100 fafeerar 100 fame § 100 9% gwedt & qa 7 fafeaal 91 7 98 voeq 8 fra a9 ofm ?

(1) gﬁrﬁz (2) 100 foe (3) %ﬁ:ﬁz 4) 7 e

[Question ID = 22][Question Description = 122_R09_06Jan_Set1_Shift1_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23)



What is the maximum number of whole laddoos having diameter of 6 cm that can be packed
in a box, whose inner dimensions are 24 cm = 18ecm x 17 em ?
(1) 24 (2) 30 & 32 (4) 36
6 Y. S a1t TG I 24 AT x 18 T x 17 FA#7. o A U 9t T fesd H WA W, sifuen
Y afyes foha g form dIe W 1 ghd § 2
(1) 24 (2) 30 3) 33 @) 36
[Question ID = 23][Question Description = 123_R09_06Jan_Set1_Shift1_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24)
Two words separated by a: and bearing a certain relationship with each other have been
given on one side of : : . From among the options, select the one that bears a similar

relationship with the words given on the other side of : : .

Settlement : injury : : pension: ?

(I) pensioner (2) maturity (3) refirement (4) age

R UF Y= Trers T arel S ISl W 9YF F ;o F UF AR W@ T e fawe
3= Al g SR I F o o gy A Sl fr s F gl s F w=di H 22

A : 9 : 2 YIME: 2

(1) T e (2) e (3) HeE (4) o

[Question ID = 24][Question Description = 124_R09_06Jan_Set1_Shift1_Q24]
1. 1 [Option ID = 93]

2. 2 [Option ID = 94]

3. 3 [Option ID = 95]

4. 4 [Option ID = 96]

25)

Which letter/number is exactly in the middle between the 9t letter/number from the right
end and the 17" letter/number from the left end of the sequence given
below ?

RE5DAP3TIQ79B2KUIMW
1 2 2 P 3) 3 4) T
1 fed T orgwH | s |1/ dl vee/Se, e fa § 9 F v /dem SR e fi d 17 9 v
/9@ & St ae o ¥
RE5DAP3TIQ79B2KUIMW
1 2 2 P 3 3 4) T
[Question ID = 25][Question Description = 125_R09_06Jan_Set1_Shift1_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

Topic:- ROHINDI_COMP_06JAN_S1



1 A computer virus is a/an , which replicates by inserting copies of itself.

(1) Software (2) Malware (3) Application (4) System file
Teh FUg GRE, Tk ? S 9w oo wiafafeal fFafm s wftega @ 2
(1) ®RT=m 2) HEeR (3) UwAIRIA (4) fo=n wEa

[Question ID = 26][Question Description = 126_R09_06Jan_Set1_Shift1_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

2) Which is the world’s most powerful Super Computer ?

(1) Tianhe - 2 (2) Fugaku (3) Titan (4) Vulcan
forea =1 geg Vifaemelt R FEIEX R 17
(1) fo=-2 (2) TP (3) <=ed 4) ded

[Question ID = 27][Question Description = 127_R09_06Jan_Set1_Shift1_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

3) Whcih of the following is not a processor manufacturer ?

(1) Nvidia (2) AMD (3) Qualcomm (4) Apple
frfafed 8§ € % Tk TEe 1w 7@ 8 2
(1) uHfafea (2) T g g (3) FlARH (4) THA

[Question ID = 28][Question Description = 128_R09_06Jan_Set1_Shift1_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

4 What is the effect of Ctrl+ =Key ?

(1) Superscript (2) Subscript (3) All Caps (4) Shadow
Ctrl+ =Key T T THTH a1 22
1) Frfere 2) wafsre (3) A FH 4) B
[Question ID = 29][Question Description = 129_R09_06Jan_Set1_Shift1_Q29]
1. 1 [Option ID = 113]

2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]



%) A Cookie :
(1) Stores the password of the user
(2) Stores infromation about the user’s web activtiy
(3) Stores the commands used by the user
(4) Stores software developed by the user
ek Feh! I HIAT 7 2
(1) SUARTRT & JEee i Wl §
2) SR F 99 R F T gu W @
(3) SUANTEHT gRI WA foRd T HAVE (SR ) h1 WA 8
(4) SUHNTEHRT] ST T HRATR Sl TEd 7
[Question ID = 30][Question Description = 130_R09_06Jan_Set1_Shift1_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

6) is a small picture on screen that depicts program, file or folder.
(1) Task Bar (2) Icon (3) Pixel (4) Cursor
B W UF TAT B fad € S Wm e A weet i fafia s g2
(1) <R &R (2) SR (3) Toe (4) wHH

[Question ID = 31][Question Description = 131_R09_06Jan_Set1_Shift1_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

7) Computer network is :
(a) a collection of hardware components and computers
(b) inter-connected by communication channels

(c) used to share resources and information
(1) Only (a) is true (2) Only (a) and (b) are true
(3) Only (b) and (c) are true  (4) All (a), (b) and (c) are true

FIPRR a7

(a) TSI Feehi IR FHEZRT & HIL

(b) TER e g O § 1 A €

(c) Eil IR G T ST Y HI §

(1) e (a) T& B (2) Fad (a) AR (b) TE ¥

(3) oA (b) 3N (c) TE 2| (4) |t (a), (b) 3R (c) TE €|
1[.Q:.u[e;gi:0r:] Ill[)) :1?;§]][Question Description = 132_R09_06Jan_Set1_Shift1_Q32]
2. 2 [Option ID = 126]

3. 3 [Option ID = 127]
4. 4 [Option ID = 128]



8) What is a firewall in Computer Network ?
(1) The physical boundary of Network
(2) An operating system of Computer Network
(3) A system designed to prevent unauthorized access
(4) A web browsing software
FHIR H2ad H AT F1E 2
(1) “=ad i «fifdes dr
(2) HHR Tk I AW fawen
(3) orfrsRd uga 1 Y & ferw s o uw foen
(4) TH 99 TR AHRTH
[Question ID = 33][Question Description = 133_R09_06Jan_Set1_Shift1_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]

3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

9 A dedicated website for providing specialized information in a particular field :

(1) Website (2) Blog (3) Web directory (4) Corporate Website

e favre &3 | fafire g=m 87 & fau v |afia 99 96e
(1) da9Ee (2) = (3) duEEERd (4) N dEHEE

[Question ID = 34][Question Description = 134_R09_06Jan_Set1_Shift1_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

10) Tn which view are Headers and Footers visible ?

(1) Normal View (2) Page Layout View
(3) Print Layout View (4) Draft View

fore e H ¥eY w8 B femnd <0 €7

(1) e g (2) I e T

(¢) fie @ e gw (4) T T

[Question ID = 35][Question Description = 135_R09_06Jan_Set1_Shift1_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

11) URL stands for :

(1) Uniform Research Locator (2) Uniform Resource Locator
(3)  Universal Resource Locator (4) University Resource Locator
URL &1 1 3% 2 2

(1) Uniform Research Locator (2)  Uniform Resource Locator
(3)  Universal Resource Locator (4)  University Resource Locator

[Question ID = 36][Question Description = 136_R09_06Jan_Set1_Shift1_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]



4. 4 [Option ID = 144]

2) Google Search allows you to search by :

(@) Text (b) Voice (c) Image

(1) Only (a) is true (2) Only (a) and (b) are true
(3) Only (b) and (c) are true (4) All (a), (b) and (c) are true
T |9 (@) fehaes gRT emel 99 (W) & faw srad 3 © :

(a) THE (W) (b) EITE (Sar) () A= ()
(1) = (a) T (2) AW (a) 3T (b) TE T

(3) e (b) 3R (c) T E (4) | (a), (b) 3R () T T

[Question ID = 37][Question Description = 137_R09_06Jan_Set1_Shift1_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

13 Which of the following is not a type of Computer virus ?

(1) Worm (2) Coffee cup (3) Macro (4)
freafafad § ¥ #i9 TH FP2ET 9™ 6 TF THR 96 © 2
(1) i (=) (2) HHI FY (3) R (4)

[Question ID = 38][Question Description = 138_R09_06Jan_Set1_Shift1_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

Bootsector

FEHFL

14) A colour underline, indicates grammar errors in Microsoft Word document.
(1) Red (2) Green (3) Blue (4) Yellow
qTEAHIEITE 98 TiFHe o 7 T TG TR HT AT T Hohe 347 2
(1) @ 2) = (3)  rem (4) dren

[Question ID = 39][Question Description = 139_R09_06Jan_Set1_Shift1_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

15 The ability to easily add additional users means that a network is :

(1) secure (2) dedicated (3) decentralized
TS T ¥ sAfafEa Wl 1 Sie g 1 o1 ® TR A e
(1) g (2) wHfda (3) fashf=d

[Question ID = 40][Question Description = 140_R09_06Jan_Set1_Shift1_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

(4) scalable
gl

(4) HHA



16) Which of the following is not an example of an operating system ?

(1) UNIX (2) MS-DOS
(3) LINUX (4) GML

Frafafea § @ @5 ww sttoefen faen =6 82

(1) 3fea (UNIX) (2) THTE-TE (MS-DOS)
(3) @EFS (LINUX) (4) SHUHTE (GML)

[Question ID = 41][Question Description = 141_R09_06Jan_Set1_Shift1_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

7 What is the full form of HTTP ?
(1) Hyper Text Transfer Program (2) Hyper Text Transfer Protocol

(3) Hyper Trans Text Protocol (4) Hyper Trans Text Program
HTTP %1 Y91 &9 &1 § ?

(1) TEW TR TR IR (2) TEW THRZ TR YRl
(3) TR 2 TR W (4) TER Ty e dwm

[Question ID = 42][Question Description = 142_R09_06Jan_Set1_Shift1_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

18) What does BCC stand for ?

(1) Blue Carbon Copy (2) Black Carbon Copy
(3) Blank Carbon Copy (4) Blind Carbon Copy
BCC o1 guf 9 1 & ?

(1) < FET Bl (2) wAH HET BT

(3) == B HIdt (4) =EE HEA HR

[Question ID = 43][Question Description = 143_R09_06Jan_Set1_Shift1_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

19)
To use “find” and ‘replace” which key combination is used in MS-Word ?
(1) Cul+R 2) Ctl+N (3) Ctrl+H (4) Ctrl+F

W.TE.aE § wEe (FN) iR fw™ (=) 1 Wa & % fau i 9h9sm o1 (Fsi) 79
i S & ?
(1) Ctl+R 2) Ctl+N (3) Cul+H (4) Ctrl+F

[Question ID = 44][Question Description = 144_R09_06Jan_Set1_Shift1_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



20) Tn MICR, what does C stand for ?

(1) Code (2) Character (3) Colour
MICR & C T T 9 g2
1) e 2) HET (3) R

[Question ID = 45][Question Description = 145_R09_06Jan_Set1_Shift1_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

21) HTML is a language.
(1) Applet (2) Scripting (3) Coding
HTML o Y st omen & 2
(1) U= ) Terfn (3) Hifen

[Question ID = 46][Question Description = 146_R09_06Jan_Set1_Shift1_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

22) Which of these keys will end the slide show ?

(1) F5 2) F10 (3) ESC
Frfafed 8 9 @0 9 &Y (FS7) TS 0 H o F G 8 2
(1) F5 2) F10 (3) ESC

[Question ID = 47][Question Description = 147_R09_06Jan_Set1_Shift1_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

Topic:- ROHINDI_ENG_06JAN_S1

D Choose the correct synonym for the following :
“Bashful”.

(1) Aggressive (2) Gregarious (3) Dashing

[Question ID = 48][Question Description = 148_R09_06Jan_Set1_Shift1_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

2) Fill in the blank using an appropriate option :
After it rained the improved.

(I) season (2) climate (3) whether

[Question ID = 49][Question Description = 149_R09_06Jan_Set1_Shift1_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

(4) Computer

(3] TR
(4) Mark up
(4) HER3Y

(4) Space bar

(4) Space bar

(4) Shy

(4) weather



3) Choose the correct meaning of the given proverb/idiom.
“An elephant in the room”
(1) Do not want to talk about an obvious problem
(2) Cannot be accommodated
(3) Too big an issue
(4) Cannot be avoided

[Question ID = 50][Question Description = 150_R09_06Jan_Set1_Shift1_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

4 Choose the correct antonym for the following word :
‘enervate’
(1) charge (2) dampen (3) wear out (4) discourage
[Question ID = 51][Question Description = 151_R09_06Jan_Set1_Shift1_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]
%) Choose the appropriate active/passive form of the sentence given below :
‘We had to stop all other work to complete our assignment.”
(1)  All other work stopped to complete assignment
(2)  All other work had stopped by us to complete our assignment
(3) All other work had to be stopped by us to complete our assighment
(4) All work was stopped to do our assignment

[Question ID = 52][Question Description = 152_R09_06Jan_Set1_Shift1_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

6) Part of the following sentence is incorrect. Choose an option which has an error, in the part
of the sentence. In case of “No Error’ choose (IV).

Men who have risen/by their own exertions/are always respected/No error
(D) (1) (I (IV)

L @ (2) ()
(3) (1m) (4) @v)

[Question ID = 53][Question Description = 153_R09_06Jan_Set1_Shift1_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

7) What is the synonym of the following word ?

“ Harbinger”

(1) atrocious (2) forerunner (3) free (4) understand

[Question ID = 54][Question Description = 154_R09_06Jan_Set1_Shift1_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]



8) What is the correct meaning of “sanguine” in the following sentence ?
The Democrats remained sanguine about their chances at the polls.
(1) optimistic (2) doubtful (3) concerned (4) confused

[Question ID = 55][Question Description = 155_R09_06Jan_Set1_Shift1_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

%) Which of the following options is the opposite of the word “Paucity” ?
(1) lacuna (2) famine (3) opulence (4) drought
[Question ID = 56][Question Description = 156_R09_06Jan_Set1_Shift1_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]

3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

10 Complete the given sentence by using the correct option.

Within moments of scoring the winning goal she was fans.
(1) encircled with (2) surrounded by
(3) surrounded into (4) encircled to

[Question ID = 57][Question Description = 157_R09_06Jan_Set1_Shift1_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

Topic:- ROHINDI_HIN_06JAN_S1

0 fem weg § HE-T T §2
(1) femn (2) =z (3) ¥ 4) =

[Question ID = 58][Question Description = 158_R09_06Jan_Set1_Shift1_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

2 e e A —
(1) FHgTT (2) aeqET (3) Tgdte (4) 4TI

[Question ID = 59][Question Description = 159_R09_06Jan_Set1_Shift1_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

) FrdET & TAE T HEEH B Y THIAAT F W FAfe R o |
TEifed I o oA il Fefan|
(1) SISt 2) HAIfSER (3) ft=nfeem (4) frafeem
[Question ID = 60][Question Description = 160_R09_06Jan_Set1_Shift1_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]



Y € fors B 9E @ RN
iferd 98 H Uge FRE T |
(1) =H FFH 2) TYEH FRE  (3) T FEH (4) Y FRH

[Question ID = 61][Question Description = 161_R09_06Jan_Set1_Shift1_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

5)
‘. FEH _ qekRdF el ¥es - T W YA ld gQ elihlfeR Sl U it )
(1) =<, IS5 (2) =, s (3) Sll, Wi (4) =l e

[Question ID = 62][Question Description = 162_R09_06Jan_Set1_Shift1_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

6)

Wz HEE T
1) fa= 2) &= (3) @& (4) =

[Question ID = 63][Question Description = 163_R09_06Jan_Set1_Shift1_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

" T w1 whfen 9 % ;
(1) = (2) = (3) TE! (4) wEFrEH

[Question ID = 64][Question Description = 164_R09_06Jan_Set1_Shift1_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

8 ydi & fasreq § € 909H YR 1 FIT HITAT |
(1) Hieer 2) =T (3) Yermer (4) &R

[Question ID = 65][Question Description = 165_R09_06Jan_Set1_Shift1_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

it faemedt s A T dfad § FH-1 TRR 7 ?
(1) & (2) Ul (3) 3FIE (4) HFEHI

[Question ID = 66][Question Description = 166_R09_06Jan_Set1_Shift1_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]



"9 g Ty 3fed = A 9 9T S 'Y R
(1) T9ek e = e s
(2) TR |y gyfEd =1 EeT |
3) =N fau gu = feran s
(4) YR Y FAF BT |
[Question ID = 67][Question Description = 167_R09_06Jan_Set1_Shift1_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]

3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

Topic:- ROHINDI_POLITY_06JAN_S1

D “Bihu’ folk dance is associated with which of the following States ?

(1) Assam (2) Odisha (3) West Bengal (4) Tripura
“fag'! AT frefafed 9 9 g v @ 99faT 72
(1) 315H (2) safeen (3) uf¥=m S 4) frgu

[Question ID = 68][Question Description = 168_R09_06Jan_Set1_Shift1_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

2) Bharatanatyam dance form has its origin in which of the following States of India ?
(1) Kerala (2) Andhra Pradesh (3) Tamil Nadu (4) Karnataka

wenE s g, frefafea § 4 feg tsa @ getaa g2
(1) * (2) 3TYTS 3) dfarrg (4) FARH

[Question ID = 69][Question Description = 169_R09_06Jan_Set1_Shift1_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

3) ‘Ramakrishna Mission” was founded by :

(1) Swami Vivekananda (2) Ishwar Chandra Vidhyasagar
(3) Dayanand Saraswati (4) Raja Rammohan Roy

THFT TH9E ot we forea &t ot ?

(1) T faasrs (2) ERE= faEmErR

(3) EAF< HLEl (4) TSI THHE T

[Question ID = 70][Question Description = 170_R09_06Jan_Set1_Shift1_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]



4 What do you mean by a Universal Bank ?
(1) A bank operating in serval countries
(2) A bank providing banking service to all sections of the society
(3) A bank that offers services to Universities
(4) A bank that offers a wide range of banking and financial services

forvgeamdt S § 319 9 T9e 2 2

(1) U 5% S %3 g9l § e §

(2) TF Sk S HAHNS & At i 1 SfE-Ha @)
3) T o S favafaemerdl s dand a1 g1

4) TF % S AF T U S IR faeig Jan <o

[Question ID = 71][Question Description = 171_R09_06Jan_Set1_Shift1_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

) The Reserve Bank of India, with its Headquarter in Mumbai, was established in which
year ?

(1) 1932 (2) 1935 (3) 1940 @) 1947
qeae fRad gegmea & 919, 91 19 (57d 9% 6 T19AT F9 g 917
(1) 1932 (2) 1935 (3) 1940 (4) 1947

[Question ID = 72][Question Description = 172_R09_06Jan_Set1_Shift1_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

6) Which of the following is not a source of Revenue for the Central Government ?

(1) Tax on Stamp Registration (2) Tax on Commodities

(3) Duty on Customs (4) Tax Revenue on Income
frfafad § § 7 Tk, %= TR % fog I 1 =i 78 €2

(1) %Y gl T T (2) HE W

(3) hEH T IYTHh (4) ™ W H TA

[Question ID = 73][Question Description = 173_R09_06Jan_Set1_Shift1_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

7} The Tertiary sector of Indian Economy is related to :

(1) Agriculture (2) Industry (3)  Electricity (4) Transport
YR S1eferaeen =l geia Ao o1 9 fohag TataT © 2
(1) B (2) SEm (3) forstedt (4) e

[Question ID = 74][Question Description = 174_R09_06Jan_Set1_Shift1_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]



8) Which of the following is not an Indirect tax ?

(1) Sales Tax (2) Gift Tax (3) Excise Duty (4) Custom Duty
frefafea # 9 #F t A9Ey FL T8 82
(1) TRt @ (2) SUER W (3) T JH (4) Hrm s

[Question ID = 75][Question Description = 175_R09_06Jan_Set1_Shift1_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

9) Which of the following languages does not have Classical Language status ?

(1) Tamil (2) Konkani (3) Telugu (4) Kannada
frefafed 9 | fore ST 1 ST=Ie 9T A S W T @ 2
() e @) wrl (3) 9 (4)

[Question ID = 76][Question Description = 176_R09_06Jan_Set1_Shift1_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

10)
Which of the following Industries in India is credited with the maximum generation of
employment ?

(1) Cement Industry (2) Iron and Steel Industry
(3) Jute Industry (4) Textile Industry
Freforfa § 9 vra 9 e 39 R Afeas TSP gor 1 99 S ?
(1) sz s=m (2) @@ SR THE T

(@) S Em (4) e E

[Question ID = 77][Question Description = 177_R09_06Jan_Set1_Shift1_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

") Who decides the appointments and tenure of the Election Commission of India ?

(1) The Constitution (2) The Parliament

(3) The President (4) The Prime Minister
WA % fratem s @t ffe oit swe w @ s &1 fofA #9582
(1) dfgum (2) W

(3) ngufd (4) qHEES

[Question ID = 78][Question Description = 178_R09_06Jan_Set1_Shift1_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]



2 When and in which book was the National Anthem of India published ?
(1) January 1910 Bengal Gazette (2) March 1911 Aryawarth Patrika
(3) January 1912 Tatwabodhini Patrika  (4) March 1910 Abhivyakti

e TR e T H RA 1 W YR g © 2
(1) SHaRl 1910 S TS (2) W= 1911 SAEEd afsER
(3) SHEd 1912 TTASEAT qHehI (4) W= 1910 SifveAfHR

[Question ID = 79][Question Description = 179_R09_06Jan_Set1_Shift1_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

13)
Which of the following is not a mandatory condition to be eligible for the position of President
of India ?

(1) Should be 35 years of age

(2) Should be educated

(3) Should be qualified to become a Member of Lok Sabha
(4) Should be a Citizen of India

IR o Teeufd &% ug & fou frefarea # 9 &9 v sifard od 8 € 2
(1) 359 &l g EHT AIfET

(2) forfara g =nfen

(3) IF H H TSR I o A A1 AR

(4)  YRG 1 AN BT M8

[Question ID = 80][Question Description = 180_R09_06Jan_Set1_Shift1_Q80]

1. 1 [Option ID = 317]

2. 2 [Option ID = 318]

3. 3 [Option ID = 319]

4. 4 [Option ID = 320]

9 Which part of the Indian Constitution imparts Economic and Social Justice to its citizens ?
(a) The Directive Principles of India
(b) The Fundamental Rights
(c) The Preamble
Select the most appropriate option :
(1) Only () (2) Only (b) (3) Only (9 @) (@), (b) and (0
STRART WA 1 30T TR ST TRt 1 sTfdfe S aifes = 98 e § 2

(a) YRera Hifa Fewes fagr

(b) Tifaw AfEmER

(c) TEEA

forared # ¥ T SugER s 9f |

(1) 9 (a) (2) FE (b) (3) T (c) 4) (a), (b) 3 (0)
1[_Q:J?;;it?o':1 II[; :3!;1]][Question Description = 181_R09_06Jan_Set1_Shift1_Q81]

2. 2 [Option ID = 322]



3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

5 When was Telangana State formed ?

(1) 2 June 2015 (2) 10 May 2014
(3) 1 November 2014 (4) 2 June 2014
TATHT T4 T TS sl gl ?

(1) 272015 (2) 10 3 2014
(3) 1 7a=I 2014 (4) 237 2014

[Question ID = 82][Question Description = 182_R09_06Jan_Set1_Shift1_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

16) “With You all the Way’ is the tagline of which Bank ?

(1) Reserve Bank of India (2) State Bank of India
(3) Punjab National Bank (4) Bank of India
‘fag g oM g 9" (T & | 319k |y, forg S &1 guR 9w § 2
(1) YR fd 9 (2) YRAE ©2 §F

(3) USTE YA ek (4) % =% sfe

[Question ID = 83][Question Description = 183_R09_06Jan_Set1_Shift1_Q83]

1. 1 [Option ID = 329]

2. 2 [Option ID = 330]

3. 3 [Option ID = 331]

4. 4 [Option ID = 332]

7). Whose signature is found on the 10 rupee currency note of India ?
(1) Finance Secretary, Government of India
(2) Finance Minister, Government of India
(3) Governor, State Bank of India

(4) Governor, Reserve Bank of India

A § 10 T F L AR R s g g1 ¥ 2
(1) fa< wfeE, 9 "R

2) fo w=h, wRa TR

(3) AR, WRA™ we dh

(4) e, e s de

[Question ID = 84][Question Description = 184_R09_06Jan_Set1_Shift1_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

18) “Hornbill Festival”, which occurs in December month every year, is held in which State ?
(1) Nagaland (2) Sikkim (3) Meghalaya (4) Goa
i greforet ", < e Fesiar T A o &, F W H A ST 2
(1) AFmete (2) fafsrrH (3) HemE (4) TiE



[Question ID = 85][Question Description = 185_R09_06Jan_Set1_Shift1_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

Topic:- ROHINDI_GS_06JAN_S1

1) A Periscope is used to view :

(1) objects above sea level (2) objects under the sea
(3) distant objects in space (4) rapidly moving object
R 1 ST A S % forg 2 @ 2

(1) ¥Hz e & S H a0 (2) HHE & A€ & AL
(@) oHafel § g aeqd (4) st TfeEE aeqd

[Question ID = 86][Question Description = 186_R09_06Jan_Set1_Shift1_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

2) Kala Azar is caused by
(1) Paramecium (2) Amoeba (3) Plasmodium (4) Leishmania

el TSR foreeh T gl § 2
1) TafafEe (2) sHTE (3) TAHIETH (4) fergmtn

[Question ID = 87][Question Description = 187_R09_06Jan_Set1_Shift1_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

3) Longest part of alimentary canal is :
(1) Oesophagus (2) Stomach (3) Small Intestine (4) Large Intestine
ST e 1 Hordd el R i 91 % ?
(1) SHETH (2) FHERE  (3) BRI AG (4) @ 3

[Question ID = 88][Question Description = 188_R09_06Jan_Set1_Shift1_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

4) Which is the most reactive metal ?
(I) Sodium (2) Calcium (3) Potassium (4) Magnesium
Frefafea § @ e sifues sifuferamiia o iF 9 82
(1) Gfeam 2) wferm (3) ey (4) AffrEy

[Question ID = 89][Question Description = 189_R09_06Jan_Set1_Shift1_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]



%) Plaster of Paris is :
(1) Calcium Sulphate hemihydrate (2) Calcium Sulphate dihydrate

(3) Calcium hydroxide (4) Calcium chloride
TR, S Ui w72
(1) Hfcerm dehe THREe (2) Hfcerm 9ehe SEERS:

3) Hfcwrm TEgEES (4) Hfcem aeivEe

[Question ID = 90][Question Description = 190_R09_06Jan_Set1_Shift1_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

) Which of the following has a pH of about 10 ?

(1) Gastric Juice (2) Blood

(3) Milk of Magnesia (4) Sodium hydroxide solution
FreAfafaa 3 faert pH @1 10 21 § 2

(1) SRW™ (2) T

(3) Thew sArw Hrei (4) wifean gEgEe faaaq

[Question ID = 91][Question Description = 191_R09_06Jan_Set1_Shift1_Q91]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

) Silver chloride (white) turns grey in sunlight. This is due to formation of

(1) Silver metal (2) Silver oxide

(3) Silver nitrate (4) Silver hydroxide

T & g § e aege (The) @ yien(i) § 9ee S €1 I 0 o9 9 g g 2
(1) ToeaT g (2) ToeaR sz

(3) faeer AR (4) Tooer eEgEe

[Question ID = 92][Question Description = 192_R09_06Jan_Set1_Shift1_Q92]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

8) LPG contains :

(1) Methane (2) Ethane (3) Butane (4) Hexane
LPG ¥ 11 21 &2
(1) Hem (2) 3 (3) A (4) &R

[Question ID = 93][Question Description = 193_R09_06Jan_Set1_Shift1_Q93]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]



% Some reliable indicators of pollution are :

(1) Ferns and Cycas (2) Algae and Liverworts
(3) Lichens and mosses (4) Neem tree and Eichornia
UV % F faver i o wi ¢ 2

(1) W 3R gEFHY (2) e iR faewes

(3) TMEHRT iR HIF (4) THae AR o

[Question ID = 94][Question Description = 194_R09_06Jan_Set1_Shift1_Q94]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

100 Hardening of arteries due to deposition of cholesterol is called :

(1) Stenosis (2) Rhinitis

(3)  Arteriosclerosis (4) Thrombosis
FIAETA & T B o RO YFAHF1 H FHSRAT &4 1 1 gl Sl 8 ?
(1) wafgg (2) fifqfem

(3) SRfEEIaT (4) grErad

[Question ID = 95][Question Description = 195_R09_06Jan_Set1_Shift1_Q95]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

") Antibodies are formed in :
(1) Platelets (2) RBCs (3) Lymphocytes (4) Eosinophils
faem (Taret) e et § 2
(1) @™ d (2) AR, | (3) formEmes § (4) zHEATRH H

[Question ID = 96][Question Description = 196_R09_06Jan_Set1_Shift1_Q96]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

12) Archaeopteryx is a connecting link between :

(1) Reptiles and mammals (2) Reptiles and birds
(3) Amphibians and reptiles (4) Birds and mammals
sAfhaTeiiay foeh =fte sl #el ¢ -

(1) ARGy AR el (2) WGy K gaft

(3) SwTEW IR gRygy (4) Taft SR TAY

[Question ID = 97][Question Description = 197_R09_06Jan_Set1_Shift1_Q97]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]



'3) What is the approximate percentage of CO, in the atmosphere ?

(1) 0.03 (2) 0.3
rgAvEA H CO, e fohad ferera €2
(1) 0.03 (2) 0.3

3) 1 (4)

(3) 1 (4)

[Question ID = 98][Question Description = 198_R09_06Jan_Set1_Shift1_Q98]

1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

4 Human heart consists of how many chambers ?

(1) four (2) three
T 2eg H fora et B € 2
(1) = (2)

(3) two (4)

3) @ (4)

[Question ID = 99][Question Description = 199_R09_06Jan_Set1_Shift1_Q99]

1. 1 [Option ID = 393]

2. 2 [Option ID = 394]

3. 3 [Option ID = 395]

4. 4 [Option ID = 396]

15) Bauxite is the ore of :
(I) Iron (2)
FlFEe fohqenT Shear oTdg 7 2

(1) e (2)

Zinc

IBED

(3) Aluminium  (4)

(3) TugfATEH (4)

[Question ID = 100][Question Description = 200_R09_06Jan_Set1_Shift1_Q100]

1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

16) The deficiency of which of these vitamins leads to ‘Scurvy”’ ?

(1) Thiamine (2)
(3) Ascorbic Acid (4)
o faif =t &t & @R Thet ' 2§ 2

(1) ST (2)
(3) USHIfah ST (4)

Riboflavin

Pyridonine

RECIESICE
TEfEfE

[Question ID = 101][Question Description = 201_R09_06Jan_Set1_Shift1_Q101]

1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

7) Mirage are formed due to :

(I) Dispersion (2)
(3) Diffraction (4)
WG % R fafdd @

(1) WehivHA (2)
(3) TaadH (4)

Total Internal Reflection
Doppler’s effect

qul STiafek gUed
TR & g9

[Question ID = 102][Question Description = 202_R09_06Jan_Set1_Shift1_Q102]

23

2.3

one

Silver



1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

Topic:- ROHINDI_HIST_06JAN_S1

1) Which illustrious ruler of the Deccan, was a contemporary of Babar ?

(1) Harihara I (2) Bukka I

(3) Krishna Deva Raya (4) Dev Raya II
R o YHEHTA, i SaR o1 Uiag IMEE o ?

(1) =R (2) 9IFRTI

@) FW W 4) T[WIWAII

[Question ID = 103][Question Description = 203_R09_06Jan_Set1_Shift1_Q103]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

2) Name the famous blind poet from Agra who sang the glory of Krishna :

(1) Surdas (2) Tulsidas (3) Chaitanya (4) Ramanujan
STFRI & 39 WG A8 &ia &1 91 Faed f5a o0 - gy &t men Tt
(1) & (2) TerEEE (3) = (4) TEIESH

[Question ID = 104][Question Description = 204_R09_06Jan_Set1_Shift1_Q104]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

3) The community of warriors called ‘Khalsa’ was organised under which Sikh Guru ?

(1)  Guru Arjan Dev Ji (2) Guru Teg Bahadur Ji
(3) Guru Gobind Singh Ji (4) Guru Hargobind Ji
‘G’ iy ST STl AT k1 HHer fRy faw 1E o st o2
(1) 7% T < Sff (2) 7% o SR S

(3) T Tiifers fog St (4) 7% Tnfer St

[Question ID = 105][Question Description = 205_R09_06Jan_Set1_Shift1_Q105]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

4 Which of the following was not built during Akbar’s reign ?

(1) Agra Fort (2) Fatehpur Sikri
(3) Jama Masjid, Delhi (4) Buland Darwaza
Frefafea 9 9 fegen fafo srrer & amae o | 781 gan ?

(1) ST R fomen (2) hdeq fasdl

3) < A, et (4) Fcdg TarsT

[Question ID = 106][Question Description = 206_R09_06Jan_Set1_Shift1_Q106]
1. 1 [Option ID = 421]



2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

5)
The mystic poet Mira Bai, a Bhakti saint was . Fill in the blank with the
correct option.

(1) daughter of a priest from Gujarat

(2) born in a Rajput royal family and married to a Rajput prince
(3) a noble Rajput women who never married

(4) from a Gujarati Rajput family married to a commoner

U A< Ovd, TgEAaTal HaesEl Hiare | T = 1 9 921 e g fifem)
(1) TSR % Toh IR T < oft

(2) oh1 S T TSTYA e URER H g3 o1 3R ST faare us Usy ST H gl

(3) U HeH Tqd G of T feramg meft =&l gan

(4) U TRt Torgd URER | off 3R ITHT faamE UF gmer 59 9 gen o

[Question ID = 107][Question Description = 207_R09_06Jan_Set1_Shift1_Q107]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

6) Who of the following Indian Mathematicians made a significant contribution in the field of
Algebra ?

(1) Brahamagupta (2) Bhaskara (3) Lalla (4) Aryabhatta
frefafaa § 9 form vrdr wftrerg 3 dremfor & &5 § el e fe on?
(1) o= (2) HTERT (3) e (4) eENE

[Question ID = 108][Question Description = 208_R09_06Jan_Set1_Shift1_Q108]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

7). Who propounded the concept of “Sampoorna Kranti” ?

(1) Bal Gangadhar Tilak (2) Jai Prakash Narayan
(3) Ram Manohar Lohia (4) Lala Lajpat Rai
Hrqul shif= ol weuAm fRae gfaarfea =i ?

(1) o TR oot (2) T YR AR

(3) UHHARR wifean (4) e ST T

[Question ID = 109][Question Description = 209_R09_06Jan_Set1_Shift1_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]



8) Who is the Guardian of the Indian Constitution ?

(1) President of India (2) Prime Minister of India
(3) Supreme Court of India (4) Election Commission
WRART HGHT i HEE i 8 2

(1) 9Rd k1 Tegufd (2) A 1 GUEHA]

(3) YRA hl S==aH A (4) THaET=ET STRIAT

[Question ID = 110][Question Description = 210_R09_06Jan_Set1_Shift1_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

9) Name the labour leader who became the President of India, and has the National Labour
Institute named after him :

(1) V.V.Giri (2) V. Sanjeeva Reddy

(3) K.R. Narayanan (4) Zakir Hussain

T iR a1 S YR F Ul 99 3R I AW W U g0 G §, 98 i o ?
(1) = fifl (2) ol dsften &

(3) .S, AEUH (4) SR gHA

[Question ID = 111][Question Description = 211_R09_06Jan_Set1_Shift1_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

10 Who founded the city of Gwalior ?

(1) Madhavrao Scindia (2) Bajirao Scindia
(3) Mahadji Scindia (4) Jiwajirao Scindia
TafersR 9 ferereh g1 Tt fefam v o 2

(1) werrE fefern (2) arsire fEfee

(3) weresi fafer (4) Sfarsia fEfen

[Question ID = 112][Question Description = 212_R09_06Jan_Set1_Shift1_Q112]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

") The Capital of Chhatrapati Shivaji's Kingdom was ?

(1) Pune (2) Raigarh (3) Karwar (4) Purandar
Tl Rrarsh & | F TS i off ?
®m ™ () T (3) AR @ T

[Question ID = 113][Question Description = 213_R09_06Jan_Set1_Shift1_Q113]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]



12) In which year Din-i-Ilahi was introduced as a new religion by Akbar ?

(1) 1581 2) 1576 (3) 1572 (4) 1569
heR 4 FE UF 90 ¥H ST U-sAR] A o1 2
(1) 1581 2) 1576 (3) 1572 (4) 1569

[Question ID = 114][Question Description = 214_R09_06Jan_Set1_Shift1_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

13) Rajarejeshwara temple in Tanjore is dedicated to which God ?

(1) Vishnu (2) Shiva (3) Surya (4) Indra
TSI a1 ToRreIvar Hi<y fmen amfda § 2
(1) oy (2) f= 3 4) =

[Question ID = 115][Question Description = 215_R09_06Jan_Set1_Shift1_Q115]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

4 Largest number of gold coins were issued in which of the following periods ?

(1) Kushan (2) Gupta (3) Maurya (4) Hind Yawan
Frefafad # 9 forg st 4 gad stfus e 3 96 & faas S fed 132
(1) A (2) T« (3) WM (4) Te= e

[Question ID = 116][Question Description = 216_R09_06Jan_Set1_Shift1_Q116]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

Topic:- ROHINDI_NATMOV_06JAN_S1

D A prominent part in the Swadeshi Movement was played by :

(1) Students of Bengal (2) Peasants

(3)  Shopkeepers (4) Indian Officials
TRl AT § fha g faes frvrh of 2

(1) e o B3 (2) foEE

(3) THFMER (4) T SAfeRi

[Question ID = 117][Question Description = 217_R09_06Jan_Set1_Shift1_Q117]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

2) Moderates and extremists of the Indian National Congress differed mainly on the issue of :

(1) Swaraj (2) Swadeshi (3) Boycott (4) National Education
R T HUH F ISeare) SR =Fquell §&1 &9 4§ Ty o w® fa= 42
(1) T 2) wEcul (3) @fE=hR (4) U foem

[Question ID = 118][Question Description = 218_R09_06Jan_Set1_Shift1_Q118]



1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

3) Who among the following was a militant nationalist turned spiritualist

(1) Subramanyan Bharati (2) Swami Vivekananda
(3) Vinoba Bhave (4)  Sri Aurobindo Ghosh
frefafed 8 § #7 737 Teard § ufafia sreacart 42

(1)  GoHUaT At (2) T fodemrEe

3) fadmen wa (4) 4 sfa< =y

[Question ID = 119][Question Description = 219_R09_06Jan_Set1_Shift1_Q119]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

4 Who among the following has written the book ‘Gulamgiri’ ?
(1) Ishwar Chandra Vidyasagar (2) Acharya Vinoba Bhave

(3) Jyotiba Phule (4) Dadu Dayal
freafafeaa § @ #9  emfi’ gew & @i 32

(1) ¥R == o (2) =E faE 9e
(3) SAIfqan we (4) <TG I

[Question ID = 120][Question Description = 220_R09_06Jan_Set1_Shift1_Q120]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

5)
At which place, did the Indian National Congress adopt the resolution of ‘Poorna
Swaraj ?

(1) Calcutta (2) Lahore (3) Delhi (4) Karachi
e T W yRd U w0 T ol WS % Heheq &l SR o1 7
(1) A 2) TER (3) feeet (4)

[Question ID = 121][Question Description = 221_R09_06Jan_Set1_Shift1_Q121]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

¢) Which among the following events took place immediately before the massacre of Jallianwalla
Bagh ?

(1) Partition of Bengal (2) Ibert Bill

(3) Passage of the Rowlatt Act (4) Morley - Minto Reforms
Siferraten aF geES % 3t Tedl frfafed § § S o g ot ?
(1) e =1 fawrsH (2) zaR foa

(3) Tl TER i TiFH (4) TRI-THS gur

[Question ID = 122][Question Description = 222_R09_06Jan_Set1_Shift1_Q122]



1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3.

4. 4 [Option ID = 488]

3 [Option ID = 487]

7} During which of the following movements did Mahatma Gandhdi remark “On bended knees

I asked for bread and received stone instead” ? Choose the correct option.
(1) Khilafat Movement (2) Non-Cooperation Movement
(3) Dandi March (4) Quit India Movement

frefefaa & & forg stidrem % S et <t 3 % g g el ¥ T U At 9 aee H e
et ? wét fasreq g

(1) Faerea sticger (2) SFHEAN SR

@) wierHe (4) TR B SHdrer

[Question ID = 123][Question Description = 223_R09_06Jan_Set1_Shift1_Q123]

1.

1 [Option ID = 489]

2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

8) Swaraj Party was the outcome of which of the following incidents ?

(I) Chauri Chaura (2) Quit India Movement
(3)  Arrival of Simon Commission (4) Bardoli Satyagraha

TS gret fefafad § & g w2 o1 gftors o 2
(1) == (2) 9 Bl HAleH
(3) HISHA HHIIMA 1 S (4) SREE HAWE

[Question ID = 124][Question Description = 224_R09_06Jan_Set1_Shift1_Q124]

1.

1 [Option ID = 493]

2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

%) Who was the author of the book “1857 in India : Mutiny or War of Independence” ?

(1) Maulana Azad (2) S.B. Chaudhari

(3) S.N. Sen (4) A.T. Embree
1857 27 sfean : Hfn AN ar AE feieq’’ 35 s a@® FIT 7 ?
(1) WM A (2) TEE. ek

(3) THUA & (4) T2 Tl

[Question ID = 125][Question Description = 225_R09_06Jan_Set1_Shift1_Q125]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

10)



Who was sentenced to death and subsequently executed for his role in the Muzaffarpur
Conspiracy Case ?

(1) Benoy Basu (2) Jatindranath Bose

(3) Khudiram Bose (4) Rash Bihari Bose

SRR e i H fohd Hid &1 o < 78 i g § ekt fgsnt o fere fromfea feman mmn 2
(1) fodrta =g (2) Sifd=z1e ad

(3) WENM ¥ (4) THfEER a™

[Question ID = 126][Question Description = 226_R09_06Jan_Set1_Shift1_Q126]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

1) Poona Pact of 1932 was related to :

(1) Farmers (2) Labour class (3) Women (4) Depressed classes
1932 1 YT HHEHET T Heftg o
(1) fwam (2) TSI (3) Hfeam (4) STEERIE i

[Question ID = 127][Question Description = 227_R09_06Jan_Set1_Shift1_Q127]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

12) Who was known as the “Heroine” of Quit India Movement ?

(1) Aruna Asaf Ali (2) Sarojini Naidu
(3) Sucheta Kriplani (4) Kasturba Gandhi
YR BIE! STiaie i i’ frd wer s R 2

(1) 78U AHE A (2) HURSH AEg

(3) ol FHIaAr (4) TS M

[Question ID = 128][Question Description = 228_R09_06Jan_Set1_Shift1_Q128]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

13) Which among the following Acts introduced provincial autonomy ?

(1) Government of India Act, 1858 (2) Indian Council Act, 1892
(3) Government of India Act, 1935 (4) Government of India Act, 1919

Frefafed § 4 #F 9 wae (AfufEm) 3 g wEmEa & g fomn?
(1) 9Rd TR fHfam 1858 (2) e aftre sfufEE 1892
(3) URd HIHR fufa9 1935 (4) 9Rd "R srfuf=H 1919

[Question ID = 129][Question Description = 229_R09_06Jan_Set1_Shift1_Q129]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]



4 Who suggested Hindi in Devnagri Script to be the National language of India ?

(1) Bal Gangadhar Tilak (2) Gopal Krishna Gokhale
(3) V.D. Savarkar (4) Rajendra Prasad
et oy H fawd o1 vra =) T o sE ) g fean € oY 2
(1) = R faees (2) U FE IE

(3) @tEl wETEH (4) TS= FEE

[Question ID = 130][Question Description = 230_R09_06Jan_Set1_Shift1_Q130]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

Topic:- ROHINDI_AGRI_06JAN_S1

1 The Green Revolution did not lead to increase in production of which crop in India ?

(1) Rice (2) Wheat (3) Maize (4) Barley
&a wifd ¥ 9Ra § #F H FOa & 3T § gerad T g8 2
(1) =& 2 (3) HFH (4) S

[Question ID = 131][Question Description = 231_R09_06Jan_Set1_Shift1_Q131]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

2) Which city of India has ten cotton mills and is called the Manchester of North India ?

(1) Lucknow (2) Kanpur (3) Varanasi (4) Bareilly
IRd &% 9 3= %ug 1 <9 fid € 3R 98 S 9Rd &1 S92 &g 96§ ?
(1) &= 2) AR (3) ERIOTE (4) =¥

[Question ID = 132][Question Description = 232_R09_06Jan_Set1_Shift1_Q132]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

3) Disguised unemployment is prominently found in :

(1) Urban areas (2) Organised sector
(3) Rural areas (4) Private sector
e SRISHIR Y@ &9 § Fal grit it 7 2

(1) vEG&AH (2) Hufed &= |

(3) Tt & H (4) Tosit & o

[Question ID = 133][Question Description = 233_R09_06Jan_Set1_Shift1_Q133]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]



4) India holds the largest agricultural land in the world. Fill in the blank with the
correct option.

(1) second (2) third (3) fourth (4) fifth
farge # wiRa % W Tt oS HT gfa ¥ 1 o Tam # gt W@ faswew & g Fife)
(1) fedta (2) T (3) =g (4) T

[Question ID = 134][Question Description = 234_R09_06Jan_Set1_Shift1_Q134]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

) Which of these crops does not require nitrogen fertilizer ?

(I) Oat (2) Rice (3) Soyabean (4) Maize
fefafaa § 9 frg wEa &1 A182ISH 3aiEh i STavdehdal el aidl 7
(1) 18 (2) =TEd (3) EHEwEE (4) HEFH

[Question ID = 135][Question Description = 235_R09_06Jan_Set1_Shift1_Q135]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

6) Which Mineral element is involved in opening and closing of Stomata ?

(I) Potassium (2) Phosphorus (3) Nitrogen (4) Zinc
T &% oM 3R 9 e § &iF W wie a i § 2
(1) Hreform (2) THERRH (3) @S @) =

[Question ID = 136][Question Description = 236_R09_06Jan_Set1_Shift1_Q136]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

7) Name the structured change in chromosome, where a DNA segment gets oriented in reverse

order :

(1) Deletion (2) Duplication (3) Translocation (4) Inversion
TS § ST TRadH Sel Uk SLUA.T, |0E 3o %9 § ifufa=ra & < §, 78 #0 Fedmn § 2
1) faeum ) Tgom (3) EAFRRO (4) SoRYU

[Question ID = 137][Question Description = 237_R09_06Jan_Set1_Shift1_Q137]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

8) The causal agent of Late blight of potato, which caused ‘Irish famine’ in the year 1845 is :

(1)  Plasmopara viticola (2) Helminthosporum oryzae

(3)  Phytophthora infestans (4)  Hemilia vesterfricala

311e] =1 farcifer simardt former o 1845 H seRer Edl g8 off, 39 WThiaE HiF T2
(1) e fafesren (2)  BfeT=regiRa S

(3) RIS SR (4) BfHfern aRHHTET

[Question ID = 138][Question Description = 238_R09_06Jan_Set1_Shift1_Q138]



1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

% An infection proteinacious particle which has no nucleic acid is :
(I) Prion (2) Virion (3) Virus (4)  Virusoids
T HehHw WM & Tehal F0 fogd fgers et =i 2, FEad ¢ |
1) T ) faftsrm (3) fomm 4) fawdize

[Question ID = 139][Question Description = 239_R09_06Jan_Set1_Shift1_Q139]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

10 Which country has the largest market for cut flowers ?

(1) USA (2) Germany (3) England (4) Japan
form <91 # e U IS 1 HaY FE 99N § 2
(1) HJUHT, (2) S (3) Fwie (4) SO

[Question ID = 140][Question Description = 240_R09_06Jan_Set1_Shift1_Q140]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

") An apple fruitis a:

(1) Drupe (2) Capsule (3) Berry (4) Pome
[l T HeA IR ?
1) sifea (2) WYL (3) *H (4) dH

[Question ID = 141][Question Description = 241_R09_06Jan_Set1_Shift1_Q141]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

12) Which of the following is not an aquatic weed ?

(1)  Eichhornia crassipes (2) Nymphaea alba
(3) Argemone mexicana (4)  Azolla pinnata

frefafed 8§ & #F uE Sl BRydar w@& €2
(1)  3TEHiTHar FHaTa (2) TR sten
(3)  HIAHIT HFHIHAT (4)  37sile fa=rer

[Question ID = 142][Question Description = 242_R09_06Jan_Set1_Shift1_Q142]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]



13) Sowing time for Kharif Crop is :
(1) April - May
(3) November - December
T HEE A H T 2
(1) o0 -7
(3) TR - feww

(2)
(4)

June - July
October - November

S - erE
AR — AT

[Question ID = 143][Question Description = 243_R09_06Jan_Set1_Shift1_Q143]

1. 1 [Option ID = 569]

2. 2 [Option ID = 570]

3. 3 [Option ID = 571]

4. 4 [Option ID = 572]

4 “National Milk Day” is observed on :
(1) 16" September
(3) 5t June
‘g gy feaw’ foRg fom wemn S # 2
(1) 16 fader

3 5

(2)
(4)

26t November
215t March

26 T
21 919

[Question ID = 144][Question Description = 244_R09_06Jan_Set1_Shift1_Q144]

1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

Topic:- ROHINDI_POP_06JAN_S1

D Which of the following is not a Satellite city ?

(1) Gandhinagar (2) Ahmedabad
freafafea § 9 9 v Jeeme T 6 82
(1) TR (2) 3TEHSETE

(3) Mohali

(3) W@

[Question ID = 145][Question Description = 245_R09_06Jan_Set1_Shift1_Q145]

1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

(4)

(4)

Muradabad

HUSTES

2) Name the Himalayan Blue Sheep found in the high mountains of Ladakh :

(1) Bharal (2) Urial

(3) Goral

TETE o 39 Yadl T U S arelt fEarerdt el 9 %1 A adgd ?

(1)« 2) sfEa

(3) TIRa

[Question ID = 146][Question Description = 246_R09_06Jan_Set1_Shift1_Q146]

1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

4)

4)

Serow

ESTAES



3) The purpose of XYZ classification of cities in India is :

(1) Medical Infrastructure (2) Income tax deduction

(3) Application of GST rules (4) House Rent Allowance slabs
Rd H Sl 1 XYZ aiientor ol 329 1 7 ?

(1) TafEs sEgeEm (2) ST FIAd

(3) SILTH.E. Il Sl @R (4) HHM TR 4= F &R

[Question ID = 147][Question Description = 247_R09_06Jan_Set1_Shift1_Q147]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

4 Which state has the lowest Female literacy rate ?

(1) Bihar (2) Haryana (3) Chhattisgarh (4) Jharkhand
fora T H wigenst] # ward qed w0 22
(1) fo=w (2) &R (3) wHAHTE (4) =R@UE

[Question ID = 148][Question Description = 248_R09_06Jan_Set1_Shift1_Q148]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

5)

The Swachh Bharat or Clean India Mission was initiated to eliminate open defecation. It
was launched on 02 October

(1) 2013 @) 2016 | (3) 2014 4) 2015

"= YA, AT Wes ARd fIvE 1 g | 9 ) gan i & fEd e T on) Te 2 S
Tl YR B o1
(1) 2013 (2) 2016 (3) 2014 (4) 2015

[Question ID = 149][Question Description = 249_R09_06Jan_Set1_Shift1_Q149]

1. 1 [Option ID = 593]

2. 2 [Option ID = 594]

3. 3 [Option ID = 595]

4. 4 [Option ID = 596]

¢) Name the National Park globally famous for its snow leopards :
(1) Dachigam National Park, Jammu & Kashmir
(2) Binsar Wildlife Sanctuary, Uttarakhand
(3) Nanda Devi National Park, Uttarakhand

(4) Hemis National Park, Ladakh

IH UL 3UA A a1 fem dgel & fo fava ufas 82
(1) femm Tt 3am, §9 o HYHR

(2) TR Fsia AYIRTE, ITEUE

(3) =1 <dl UL A, ITETS

(4) efow T s, TR

[Question ID = 150][Question Description = 250_R09_06Jan_Set1_Shift1_Q150]
1. 1 [Option ID = 597]



2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

7} The permissible noise limit in Silent Zones during the day laid down by CPCB is :

(1) 50 dB 2) 60 dB (3) 70 dB (4) 80 dB
T W & HR S g fuifa stma s o6t die fea 22
(1) 50 Sist (2) 60 Srsil (3) 70 Srsft (4) 80 Sfeit

[Question ID = 151][Question Description = 251_R09_06Jan_Set1_Shift1_Q151]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]

8) Which is the least populated state as per census 2011 ?

(1) Sikkim (2) Mizoram (3) Arunachal Pradesh (4) Nagaland
2011 I STIOAT % STTER fohg T &1 Saen 99 4 FH €2
(1) fHforrm 2) fosirH (3) STEUIEA YWl (4) FFIRIVS

[Question ID = 152][Question Description = 252_R09_06Jan_Set1_Shift1_Q152]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

%) The organisation that makes periodic assessments of the impact of increasing carbon dioxide
in air on global climate change is :
(1) UNEP ) IPCC 3) IUCN (4) WHO
forva Sierarg, aitedd T 9 | heH SRATTHES S+l dgdl A6l &1 SA6iHes Jedish i d1 W3
HAA B ?
(1) FTAE. (2) ot H . (3) HEFHLTA (4) TGS
[Question ID = 153][Question Description = 253_R09_06Jan_Set1_Shift1_Q153]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]

3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

10 Air quality Index in India does not take into account :

(1) PM10 (2) Carbon monoxide (3) Lead (4) Carbon dioxide
ARd H a1y UiEl Jashich fhHe IR H fa=r @ i ?
(1) dhuaio (2) HTEA AFITRES (3) (4) HET SEHEFIES

[Question ID = 154][Question Description = 254_R09_06Jan_Set1_Shift1_Q154]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]



) Life on earth is protected from UV radiations by :

(1) Ozone in stratosphere (2) Methane near earth’s surface

(3) Ozone in troposphere (4) Chlorofluorocarbons in atmosphere
7). fafeor & guma @ gealt o Sitee foras g0 gefa &2

(1) |HA™ HUEd § A& (2) gt i Hag W fude

(3) & Husd H 3HSH (4) aFHYSA H FARIGARIHTe

[Question ID = 155][Question Description = 255_R09_06Jan_Set1_Shift1_Q155]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]

12) Keetham Lake in Sur Sarovar Bird Sanctuary is a natural habitat of :
(1) Sarus crane and spotted eagle (2) Indian peafowl and Hornbill

(3) Great Indian Bustard (4) Green Pigeon and Grey Jungle fowl
T GUAR vl 319y § ey gier fohgen wifas siem 2

(1) IR F9 &R fexiier firg (2) R AR R g

(3) e dfead s (4) T HIR SR IR et g

[Question ID = 156][Question Description = 256_R09_06Jan_Set1_Shift1_Q156]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]

13)

Which two rivers are being linked to provide water to drought-prone Bundelkhand
region ?

(1) Ken and Betwa (2) Ken and Chambeal

(3) Sarayu and Betwa (4) Yamuna and Ghaghra
Seerde g@ &, § St < o faw i 4t < A i s St @

(1) " 3R S 2) ¥ R T

(3) T SR e (4) =G SR S

[Question ID = 157][Question Description = 257_R09_06Jan_Set1_Shift1_Q157]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]

14)

UP Population Policy aims to bring down the Total Fertility Rate (TFR) among women to
1.9 by which year ?

(1) 2026 2) 2030 (3) 2036 (4) 2042
7. SFgEn Hifd = frm ad 9% ofeened § Fo yo R 0 FF 1.9 9% 9 F AT T 2
(1) 2026 (2) 2030 (3) 2036 (4) 2042

[Question ID = 158][Question Description = 258_R09_06Jan_Set1_Shift1_Q158]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]



Topic:- ROHINDI_GEOG_06JAN_S1

D Which river originates from the western flank of the Amarkantak Plateau ?

(1) Damodar (2) Tapi (3) Narmada
e 8T o e fFaR § & o 76 frenerdt 87
(1) =T (2) dreit (3) FHa

[Question ID = 159][Question Description = 259_R09_06Jan_Set1_Shift1_Q159]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

2) Name the mountain range found in USA :

(1) Andes (2) Urals (3) Atlas
FuEu, ¥ qE S el veld S@en wiF =¥ ?
(1) uE @ I« (3) veEw

[Question ID = 160][Question Description = 260_R09_06Jan_Set1_Shift1_Q160]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]

(4)

(4)

(4)

Son

qH

Rocky

ehl

3) In which part of the Himalayas is the famous tourist spot Shimla located ?

(1) Greater Himalayas (2) Lesser Himalayas
(3) Lower Himalayas (4) Outer Himalayas
Wi sk e fomen feume™ & fora i | feom &2

(1) U feqre (2) i fede™

(3) <R femreE (4) SmSX fearea

[Question ID = 161][Question Description = 261_R09_06Jan_Set1_Shift1_Q161]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

4 Name the first person to discover mainland Antarctica.

(1) James Cook (2) Fabian Welling Shawson
(3) Roald Amundson (4) Tasman

SR i WISl T Fel Jeel AR i o1 ?

(1) 99 F% (2) hfera Sfci wrEl

(3) Wes HAYSHA (4) HEA

[Question ID = 162][Question Description = 262_R09_06Jan_Set1_Shift1_Q162]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]
3. 3 [Option ID = 647]
4. 4 [Option ID = 648]



%) Indian Wild Ass is a near-threatened species found in :

(1) Sundarban (2) Western Ghats
(3) Rann of Kutchch (4) Eastern Himalaya
Ghe % HIR T SR TRATT SHTelt T8 Y TSl Fel g S € 2
(1) F=A (2) i =R

(3) TS I (4) gl fedrem™

[Question ID = 163][Question Description = 263_R09_06Jan_Set1_Shift1_Q163]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]

6) Capital of Ukraine is :

(1) Tashkent (2) Kyiv (3) Ashgabat (4) Almaty
TR I TSIEFT ®HH o § 2
(1) deeh=< (2) (3) SAEEd (4) AT

[Question ID = 164][Question Description = 264_R09_06Jan_Set1_Shift1_Q164]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

7) Hambantota Port is located in ;

(1) Cambodia (2) Kampuchca (3) Thailand (4) Sri Lanka
BRI U H Heleerd 21
(1) whwsiifean (2) Yl (3) emsets (4) i

[Question ID = 165][Question Description = 265_R09_06Jan_Set1_Shift1_Q165]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

8) Ural mountains are located in :

(1) Brazil (2) Russia (3) Mongolia (4) Taiwan
A TEd Fel STafed 7 2
(1) s (2) ®H (3) Hfern (4) dEIA

[Question ID = 166][Question Description = 266_R09_06Jan_Set1_Shift1_Q166]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]

%) The atmospheric air is held to the earth by :

(I) Moisture (2) Warm winds (3) Gravity (4) Earth’s rotation
AHUSH I 9 Yedt | freh g et 2 2
(1) =t (2) T TEA (3) TEERRYUT (4) g I YUA

[Question ID = 167][Question Description = 267_R09_06Jan_Set1_Shift1_Q167]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]



4. 4 [Option ID = 668]

10 Headquarters of the World Meteorological Organization is located in :

(1) Tokyo (2) Sydney (3) Geneva (4) Washington DC
forva digm G 1 gEerd el feed § 2
(1) <= 2) faet (3) SHar (4) @rferTed S

[Question ID = 168][Question Description = 268_R09_06Jan_Set1_Shift1_Q168]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

') What part of India is part of Sundarland Biodiversity Hotspot ?

(1) Mizoram (2) Nicobar Islands
(3) Lakshadweep Islands (4) Tripura
IRA 1 I | AT GTeive el e gie e &1 9 & 2

1) frsire (2) FrRleR groeqe

(3) @eET g9 ugE (4) P

[Question ID = 169][Question Description = 269_R09_06Jan_Set1_Shift1_Q169]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

12) Main mineral constituents of crust on the continental masses are :

(1) Silica and iron (2) Magnesium and Nickel
(3) Iron and Nickel (4) Silica and alumina
TeIETE GUEl it quet § ge wie s A 2

1) Tafae s & (2) Fiferem sik fafewa

(3) o 3R fHfret (4) fafeas R cegfa

[Question ID = 170][Question Description = 270_R09_06Jan_Set1_Shift1_Q170]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]

13 Bermuda Islands is an overseas territory of the United Kingdom in :

(1) Indian Ocean (2) North Atlantic Ocean
(3) South Pacific Ocean (4) Mediterranean Sea
FIgeE foRTTen o1 U foduit & sRe 59 wE el frud €72

(1) fe< "emrr (2) I AAICH HEHIR
(3) Sferilt g qEEIR (4) YHA WIR

[Question ID = 171][Question Description = 271_R09_06Jan_Set1_Shift1_Q171]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]



%) Quadrilateral Security Dialogue is between :
(1) Australia, New Zealand, Taiwan and Indonesia
(2) Malaysia, Thailand, Indonesia and Vietnam
(3) USA, Japan, Turkey and Brazil
(4) Australia, USA, Japan and India
Ik G Hare foree i €2
(1) emeefern =Efeve, agar iR SEmfvm
(2) HeARE, emgetve, SRR SR faea
(3) F.THT., SMUM, Tehi, AR A
(4) SEfern, ZuET SUM, 3R 9Ra
[Question ID = 172][Question Description = 272_R09_06Jan_Set1_Shift1_Q172]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]

3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

Topic:- ROHINDI_CA_06JAN_S1

D ICMR has partnered with which organization for the delivery of COVID-19 Testing Kits ?

(I) Amazon (2) India Post (3) Snapdeal (4) Mynftra
ifers uftermn fore & faawon % for s um.sm 3 frass are e fora €2
(1) oTHsH 2) YRdE T (3) TuEd (4) TN

[Question ID = 173][Question Description = 273_R09_06Jan_Set1_Shift1_Q173]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

2) Who among the following has won the Australian Open Men’'s Singles Title 2020 ?

(1) Roger Federer (2) Novak Djokovic
(3) Dominic Thiem (4) Rafael Nadal
srefera 3irem qew fime faae - 2020 foram Sfiar € 2

(1) TS e (2) Hrares Sienifad
(3) it forrm (4) ThA AT

[Question ID = 174][Question Description = 274_R09_06Jan_Set1_Shift1_Q174]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

3) Which state will host “Khelo India Youth Games” in February 2022 ?

(1) Punjab (2) Haryana (3) Gujarat (4) Karnataka
A T T WA 2022 § @ gfean g2 W't BSEEt SO ?
(1) i (2) wfReEmm (3) TS (4) woifesw

[Question ID = 175][Question Description = 275_R09_06Jan_Set1_Shift1_Q175]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]



4) Which country would soon be having the ‘world’s first ﬂoating city’ ?

(1) India (2) South Korea (3) Japan (4) Israel
‘forga o1 germ ORa gaT vrel’ foRd <1 Rl vt € e aren @ 2
(1) (2) wfRwm=mifen  (3) WA (4) ISEE

[Question ID = 176][Question Description = 276_R09_06Jan_Set1_Shift1_Q176]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

%) Which country has been named as the host for 2023 FIH Men’s World Cup (Hockey) ?

(1) England (2) Germany (3) Belgium (4) India
fora So @t 2023 T TSR TA. gEY fava #u (ERt) F Beert o fa Afia e g2
(1) FTive (2) AT (3) SESiIH (4) w4

[Question ID = 177][Question Description = 277_R09_06Jan_Set1_Shift1_Q177]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

¢) Which is the highest civilian award instituted by Government of India for promoting unity
and integrity ?
(1) Padma Shri (2) APJ National Unity Award
(3) Sardar Patel National Unity Award (4) Padma Vibhushan

Tehdl 3R STEUEA] 1 U=id A & foTu YRd TR 3 FIF ¥ Fate ArTieh EehR Sl WU 6l 8 2
(1) A (2) TR T T TER
(3) TR UE UL Tehdl JTERR (4) T fanpem

[Question ID = 178][Question Description = 278_R09_06Jan_Set1_Shift1_Q178]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

7} Under the e-Panchayat Puraskar-2020 Panchayat Raj department of which State has won
the first prize for effective implementation of the e-application developed by Central
Government ?

(1) Haryana (2) Tamil Nadu (3) Himachal Pradesh (4) Rajasthan
e T o damdt O faumT | 3-99a QEERR 2020 & A ke HXhR g faefad 3-3Taed
& YTt FEFEEA o AU wgH IR S 2

(1) &fEmn 2) dfeTrg (3) ferraa yew (4)  TSTEAH

[Question ID = 179][Question Description = 279_R09_06Jan_Set1_Shift1_Q179]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]



8) What was the medal tally for India in Tokya Paralympic 2020 ?
(1) Gold=5, Silver=9, Bronze=4 (2) Gold=5, Silver=9, Bronze=5
(3) Gold=5, Silver =8, Bronze=6 (4) Gold=5, Silver=8, Bronze=5
TRretftyes el 2020 H WRA 1 g dfcrs #41 off ?
(1) T@Ui=5, WA=9, F=4 (2) FUi=5, WA=9, HE=5
(3) W@Ui=5, =8, HFA=6 (4) ¥@U=5, T =8, HFF=5
[Question ID = 180][Question Description = 280_R09_06Jan_Set1_Shift1_Q180]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]
9 Who is the first Chairperson of the Lokpal of India ?
(1)  Justice Pinaki Chandra Bose (2) Tushar Mehta
(3) Justice Sharad Arvind Bobde (4) Soma Roy Burman

YRA & &l eAlhdTel i © ?
(1) Sifeg fomkt == 99 (2) TOR HEa
(3) ified g eRfag e (4) =g gHA

[Question ID = 181][Question Description = 281_R09_06Jan_Set1_Shift1_Q181]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

10 Who amongst at the following is associated with Sahitya Akademi ?

(1) Chandrashekhara Kambra (2) Ajit Kumar Mohanty
(3) N K Singh (4) Samant Goel
frefafea 3 & =7 afecs seredt § grafed g2

(1) SEER FAR (2) oTSid FHR Hewdt

3) T fog (4) = TEd

[Question ID = 182][Question Description = 282_R09_06Jan_Set1_Shift1_Q182]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]



) Who won the Nobel Prize 2021 in Physics ?
(@) Syukuro Manabe (b) Klaus Hasselmann
(c) Giorgio Parisi
Select the most appropriate answer from the option given below :
(1) Only (a) (2)  Only (a) and (b)
(3) Only (a) and (c) (4) All (a), (b) and (c)
forem siifqent & e Q&R 2021 Sfiar & 2
(a) FHU A (b) Y A
() foemasi wReg

= feu u fosredi § 9 Herd UGS T A ¢
(1) 94 (a) (2) e (a) HR (b)
(3) ad (a) #R (c) (4) @ (), (b) 3R (o)

[Question ID = 183][Question Description = 283_R09_06Jan_Set1_Shift1_Q183]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

2) Which of the following is a national sports award ?

(1) OTT award (2) Arjuna award

(3)  Abel Prize (4) Vatayan Lifetime Achievement Award
frefafad § § ®F TF T 99 TR © 2

(1) 3212 JERR (2) TS gEEHR

(3) 3o GTER (4) TREA AERIEH UfFaHe JEEHR

[Question ID = 184][Question Description = 284_R09_06Jan_Set1_Shift1_Q184]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

' Which of the following is true about 7t India International Science Festival (IISF) ?
(1) Time line : 10 to 13 December 2021, Venue : Panaji
(2) Time line : 20 to 23 December 2021, Venue : Mumbai
(3) Time line : 10 to 13 January 2022, Venue : Panaji
(4) Time line : 15 to 18 January 2022, Venue : Delhi

Freafafeg § § 7 9 ard A fagm wécqa & Say § 50 a8 2
(1) \F @ 10 9§ 13 feqrat 2021, ¥4 : YT
(2) §HF W@ 20 § 23 fegmr 2021, ¥ : grE
(3) HHI W& 10 ¥ 13 SHERI 2022, I : qrSi
(4) TIF @15 § 18 ST 2022, T : feeedt

[Question ID = 185][Question Description = 285_R09_06Jan_Set1_Shift1_Q185]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]



14) Where was ASEAN 2021 held ?

(1) Brunei (2) Vietnam (3) Thailand

amfga™ 2021 (T UE.ETTA.-2021) el gol o ?

1) @) fouam (3) HEeivE

[Question ID = 186][Question Description = 286_R09_06Jan_Set1_Shift1_Q186]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

Topic:- ROHINDI_UP_06JAN_S1

1) State bird of Uttar Pradesh is

(1) Peacock (2) Monal (3) Sarus Crane

T YL T T Yaft i T E 2
(1) =R (2) HHEA (3) HRH A

[Question ID = 187][Question Description = 287_R09_06Jan_Set1_Shift1_Q187]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

(4) Singapore

(4) fEmR

(4) Pigeon

2) Tn which district of Uttar Pradesh is ‘Shora Dance’ a tribal dance form ?

(1) Gorakhpur (2) Lalitpur (3) DPrayagraj

SASTA T ToF "N T Il = T et 7 995 82

(1) TTREY (2) wfadag (3) AR

[Question ID = 188][Question Description = 288_R09_06Jan_Set1_Shift1_Q188]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

(4) Varanasi

(4) ST

3) Where was the foundation of News Print Project laid in September 1989 ?

(1) Varanasi (2) Moradabad (3) Lucknow

foarsr 1989 H =1 fie Wiae 1 T el g8 off ?
(1) @t (2) HUEEE (3) TETH

[Question ID = 189][Question Description = 289_R09_06Jan_Set1_Shift1_Q189]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

4) The city of Firozabad is famous for its :

(1) Ceramics (2) Ebony work (3) Bangles

fortsirene v frgss fou ufgg &2
(1) THEl < u= 2) SMETEHHFH (3) AT

[Question ID = 190][Question Description = 290_R09_06Jan_Set1_Shift1_Q190]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

(4)

(4)

(4) Prayagraj

(4) HHATIS

Wood work

KEEECaleat:!



5)
Which commercial town of Uttar Pradesh is famous for its brass ware and is popularly
known as the Brass city of the country ?

(1) Meerut (2) Saharanpur (3) Mirzapur (4) Moradabad
T YR I HI HI I Ue a5 qa=1 o (o0 qfdg € 3 30 % diqet 8¢ & 714 | yeaford & 2
(1) =33 (2) WIAR (3) foeig (4) TRER

[Question ID = 191][Question Description = 291_R09_06Jan_Set1_Shift1_Q191]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

) Where is the largest diesel-electric locomotive manufacturing workshop of India located ?

(1) Varanasi (2) Kanpur (3) Lucknow (4) Meerut
TR ol o o<t Soter-ferepd Y1 o Fmtor shrefumren el fom €2
(1)  eIoTHt 2) wHER (3) @S 4) WS

[Question ID = 192][Question Description = 292_R09_06Jan_Set1_Shift1_Q192]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

7) Dudhwa National Park stretches over an area of :
(1) 270 sq. km. (2) 310 sq. km. (3) 490 sq. km. (4) 510 sq. km.
gUal T e foran o &3 | When gen R 2
(1) 27oeF fedl. (2) 310 fed.  (3) 490 & fRHAL (@) 510 = fHHAL

[Question ID = 193][Question Description = 293_R09_06Jan_Set1_Shift1_Q193]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

8) In which district, the Nawabganj Bird Sanctuary is located ?

(1) Bareilly district (2) Badaun district
(3) Unnao district (4) Barabanki district
et galt SR forg foe | ferd B2

(1) et foren (2) ey fem

3) ==ma e (4) SRS e

[Question ID = 194][Question Description = 294_R09_06Jan_Set1_Shift1_Q194]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]



%) The programme of linking Self-Help Groups (SHGs) of the rural poor with the banking system
was launched as a pilot project in which year ?
(1) 1990 (2) 1992 (3) 1998 (4) 1999
Trefror-Te o T WEr 9 (Heeed ) (LUELSH) Wi SRl | Sieq @1 ArSHT Sl T
RS % w9 ¥ ford o F smeey feman o ?
(1) 1990 (2) 1992 (3) 1998 4) 1999

[Question ID = 195][Question Description = 295_R09_06Jan_Set1_Shift1_Q195]

1. 1 [Option ID = 777]

2. 2 [Option ID = 778]

3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

10 Which of the following is not a historical monument of Lucknow ?

(1) Rumi Darwaza (2) Khusro Bagh
(3) Chota Imambara (4) Jama Masijid
frfafea 9 | % @ Ui s aeTs 4 7@ 8 7

(1) THT ZTEreT (2) FE =

(3) I FHHAE (4) STHT A&

[Question ID = 196][Question Description = 296_R09_06Jan_Set1_Shift1_Q196]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

') Name the town which is called the “Mango Capital of India’ ?

(1) Prayagraj (2) Moradabad (3) Malihabad (4) Bareilly
9 YT H AF FAEA S WA S TSI FAr © 2
(1) WErS (2) TURER (3) HefEmETE (4) =l

[Question ID = 197][Question Description = 297_R09_06Jan_Set1_Shift1_Q197]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

2) Taj Mahal became a UNESCO world heritage site in the year ;
(1) 1981 (2) 1982 (3) 1983 (4) 1984

qrsTHeEd, Jeh! fova aliet e e o § o1 2

(1) 1981 (2) 1982 (3) 1983 (4) 1984
[Question ID = 198][Question Description = 298_R09_06Jan_Set1_Shift1_Q198]
1. 1 [Option ID = 789]

2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]



13) What was the name given to Uttar Pradesh during the British rule ?
(1) United Provinces of Agra and Awadh
(2) Kingdom of Banaras and Tehri-Garwal
(3) United Provinces of Allahabad
(4) Awadh Pradesh
fafew S o SR I U H1 A T 412
(1) AR Wiad i STF iR eay
2) féven site T RE iR fead-Team
(3) FTEee Hifa=H A R
4) FEY W
[Question ID = 199][Question Description = 299_R09_06Jan_Set1_Shift1_Q199]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]

3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

4) In which year was the Banaras Hindu University established ?

(1) 1875 2) 1916 3) 1921 (4) 1930
Y Taw favaformera =1 wmam forg o § g5 o 2
(1) 1875 2) 1916 (3) 1921 (4) 1930

[Question ID = 200][Question Description = 300_R09_06Jan_Set1_Shift1_Q200]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]






